AtA=11, 2, (1, 2}, o} € W, o} 5 A &2 A7
D oecA @ ocA @ {1, 2)cA

@ {1, 2} €A @{2}eA




A A, B o tisted
n(A) =16 ,n(B) =11,n(AUB) =21 & T, n(AN B) =7

o5  @s ® 7 @ 8 ® 9

n(ANB) = n(A) +n(B) —n(AU B)
=16+11-21=6
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® QcP

@ PuQ=Pp

@ Q°cPp

@PCQ
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2t &8 el M L2w?

© f(x) = @ f(x)= -2
@) 1(x) = 3x @ flx)=20+3

x) £ D F A a, b ol W5 fla+b) = f(a) + f(b)
. °]

@ fla+b) =la+Db|
fla)+ f(b) =lal+1b|
ol @ |a+ b| < |al + |b]
@ f(a+b)=—(a+b)?=—a®-2ab-b?
fla) + f(b) = —a® - b?
® fla+b)=3(a+b)=3a+3b= f(a)+ f(b)
@ fla+b)=2(a+b)+3
fla)+ f(b)=2a+3+2b+3=2(a+b)+6
®f(a+b) =(a+b)*+3(a+b)
= (a+ b)(a® + 2ab + b* + 3)
fla)+ f(b) =a®+3a+b*+3b
=a’+b3+3(a+b)
= (a+b)(a® —ab + b+ 3)




A5 AR WG R AR 2 S £ 7 f 13- x4 1 2 Fold
w, £2000(2) o] e ABRIZY (R, f1 = £, frH = fofr e
A4e14)

@® 2002 @ 2004 ® 2006 @2008 ® 2010

PE)=ff®)=x+1)+1=x+2
F2x) = f(f2(x) = (x+2)+1=x+3
) =fPx)=x+3)+1=x+4

ool Al f1(x) = x+no|EZ
299 (x) = x + 2006
- f2996(2) = 2 4 2006 = 2008




tololgio = ut=7
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AARR} U = {xlx= 7 015k 2A} o] Al 23 A,B,C
tiste] A = {1,2,3,6), B={2,3,5}, C = {3,4,7}< W, (AUB) N C*

©9

O (1) @ {1,2} ® (1,6}
@ {1,2,6) @)mzam

B

U=1{1,2,3,4,5,6,7) |22

(AUB)NC = (AUB)-C
={1,2,3,5,6} — {3,4,7}
={1,2,5,6} °|c}.
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O y=-x+2 @yzzx—Q BO)y=zx+<
1 1
_ .= _ = 2
@ vy 5%~ 3 ®y 2x+

h(x) =ax+b 21l O,
(hogoflx=(hog)(f(x) =f(x)elX hog=1
Z (hog)(x)=x, a(2x-1)+b=x
x=1¥49",a+b=1

x=02 W, —a+b=0

1 1
azé, b= 5
web A h(x) = Lx 4




9. x—y<0,xy<09d, /x2-2xy+y2+ Va2—|y| =0

O 2x @ 2y C@)—Zx
@ -2y ® 2x-2y

8] 52

B

x—y<0, xy<0=>x<0,y>0

VaZ = 2xy + 3% + Va2 — )y
= V(x=y)2+lx|-1yl
=lx-yl+Ilx[-1yl
=—(x—y)—x—y=-2x
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@ 2+ 13
® 3+243

] 1
bet @, ato O g7

® 2+2V3

V12-6v3 = V12-2v9x 3

=3-V3=1.x---
a=1,b=2-13
a+l=1+;
b 2- V3
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ZAHAFR o] ol HT A =12, 4, 6,8, -+, 2n} & FEHT FolA
Wz 2(n—1) T 20 & X6 42> HEHYTO] 5732 4 o, n
o] Zr-& otd?
® 10 @14 ® 18

@ 22 ® 26

B

At A o YA ATt n ol BR
272 — 32 = 25 o|t}.

n—2=5

n="7

Q49 M7 70| B2 A= (2, 4, 6, 8, 10, 12, 14}, n = 14
olct.




th2 13 2ol DE // BC S 442 ABC 79Itk AD = a, AB = b,
AE=c¢, AC=dd W, tZ F a, b, ¢, dAto]2] AR &A] 2
A REV2H? (Fa#b, c#d)

a b-a
® Z:d—c @ac—bd:()
® a(d-c) = c(b-a) @ b;“:d;‘f
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MD)32 @ 6V2 ® 92 @ 6V3

ek
=

al

® 93

o

He

5 447t AR At BAolng T4 0] mge
y= V¥ 1+18ty=xo DA 2o},
Vi+141=xoA

x+1=(x-1)2

x=0, 3

x>10|B2x =3

- P(3,3)

OP = V32 +32 =3V2




14.

Qlele] 4% x, yol thoto] G4 a2 4 2xy +y% + dx +ay + b > 0°]
La 9] T b o] Az B2 FE FHA?

® 7 @s @)

D 5 @ 6

B

x o thste] FalstA x2 +2(y + 2)x +y?  +ay+b>0---O
@o] dojo] A4 x of thoto] A Hfof stE=

gz +2)?2-(?+ay+b)<0

(4—a)y+4—b<0-~®

T, ©°] ¥9]e] A4y of thote] A slof stz
4-a=0,4-b<0

a=4,b>4

a=4, b9 HALAFE=S

na+ (b9 H2AFI=9
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